19

748

24] |
945 - -
\ ' [24]
' ; o~ @ .945
[3.51]
®.138

PANEL CUT-OUT
FRONT OR REAR MOUNT

- [219] |  [609]
86

240
= GROUND
A @y | - - TERMINAL —
el 2% '
' ' COUNTERSINK
FOR #4 FLAT
&Zy 7R\ | | HEAD SCREW
Y \ GWITCHCRAFD\\{Y
[3.30]
— [712; —— 130 CONICAL SPRING
' E3M SOLDER TERMINALS

LATCH NOT
INCLUDED WITH
OPTION "D"

——‘

GROUND
TERMINAL—

[47] FAS-DISCONNECT
19
\M 2 E3F U
— ———1
~ 1.8]x [3.2 1.19
u S . 47 B peer < 5 .047]TYP
h ] ?— G ;
7 100 [2.54] HOLE
5 il L @‘o—/F%EfF[%E\%]éFN’%”
s - e ‘L ! 2 - f SCREW
- 3 4
_—_[/JCEEJ [41 gg] [4] J‘ —| |-t 158
MALE SOLDER CUP - 2 O ) s (4]
OPTION "SC" N . [oa] | 158 ] | - [4] —= = .158
158 _
945 E3MST es ™ PC BOARD LAYOUT - COMPONENT SIDE
47 1.19 4.50
[41;] o &E ] [-19] r [1‘;;50] %1_'53701] <,75[ .0471_\\[.177]
= - N L] TYP (3) G ®.100 [2.54] HOLE
] [1.38] L [1.8]x[3.2 FOR # 2-56 X 5/32"
L T ] = T[ { 054 071 125 DEEP ,\M SELF TAPPING
D >| = e — r N kIJ - SCREW
ft f [
| — % P [4]
— I — { J A S — 158 [1.38]
] [4] — (55911 [4] 054
| e — Fod] 158 - %]8 220 158 — | |
- 945 E3FST G55 ™1 ™— ' PC BOARD LAYOUT - COMPONENT SIDE
FEMALE SOLDER CUP . ol [229] [1.19] %
OPTION "SC" — —— 1T 886 ®.047 TYP (4) Tl 4G
’ - ®.100 [2.54] HOLE 730 29% t
] ogtey Lo o
REAR MOUNT OPTIONS L | e T 5067
- e - - 4] 200
e [1.8] x [4] , 158 — | |-
&S (.071 x .158 DEEP [52-831 4] |
K [508] 200 Ggg =1 4] PC BOARD LAYOUT - COMPONENT SIDE
200 ~ " E3MRA 158 |
MOUNTING [ ———e fel— e *
HOLE TYP (2) — ' [180] ;
POTITYP(3) o o
5 LR RO 72T Hso
M3 x 0.5 THREADED HOLES SCREW{ T [52-831
OPTION "440" —— L 158 = =
#4-40 THREADED HOLES - | [506] (4]
[1.8] x [4] -— 158 — | |-
G.071x. 158 DEEP 200

[5. 08]

.200

[4]

—~  E3FRA 158

- %]8 PC BOARD LAYOUT - COMPONENT SIDE

Switchcraft, Inc.
E Series




1

- 1219
86 - 477
i ‘ N ] 19
a8 ; sr
31 24 ]
o e =
mymy o N
|
| | PANTAS Y : | = SOLDER CUP
| \ | t | wmoncam & HEAD SCREW | TERMINALS
[24 ] ‘ ‘ 19 [330] _ | |4
945 - " ™ 2.8 130 2.10]
\ ‘ [ ] . E4MSC ™ ' 083
l 24 '
: l 6.6
Y !\ A1 D945 % - [_26]
% N iee T
PANEL CUT-OUT WY o e
FRONT OR REAR MOUNT NCLUSICHNOT %L
5 OPTION "D"
S FAS-DISCONNECT ] SOLDER CUP
MALE CONNECTOR \@wmcieram\")  E4FSC | TERMINALS
GROUND TO PIN #1 o N or T YIIT:
OPTION "G1 ~— ou5 ™ 19 — -l 327 FOR # 2-56 x 5/32"
 JUMPER - SELF TAPPING SCREW
T — [1.8] x[3.2] [_41'232]_> | [4.50]
- ©.071 x .126 DEEP 1197 A77
EE @ 047 TYP (5) \ G € 032 W
— i
R\ R
N A

. H L A
. _—_I/qu &% | |
— [3.68] J‘ [2.03]
145 .080 417 | | 2.84
E4AMST ﬂ [.164] [.112]
24 4.7 8.31
~ .[945] [.19] (4197 <———[.327] [ 1.19]
FEMALE CONNECTOR &E ] ® 100 [2.54] HOLE — 165 ==  |l=a— 3047 TYP (5)
GROUND TO PIN #1 — TR FOR # 2.56 x 5/32" \ i $
OPTION "G1" ] 071 x.126 DEEP——4 SELF TAPPING 3
= SCREW % 4
3\)
| | [2.84] J‘ 2.03 ? L 4.50 t 3.68
— —T 112 [.dso]—— - [. 1'77] [. 1'45]
- E4FST [0.81] [4.17]
032 |- 164
I [f%g] —— [5.08] [5.08]
M - 200 —=m—{mi— 200
1T —— SOLDER CUP 4 T [2.1840.05 ]
=T —[ GND TERMINAL Jan @ .086+.002
- [17.78] A N PILOT HOLE TYP (2)
REAR MOUNT OPTIONS P [_5()0 L{} & FOR # 4-40 x 3/16"
| i 4 3 , 1 SELF TAPPING SCREW
B S - U == 1
[12;] @ @ E4MRA [5.08]] [1 26106]
N A - - 200 — :
kw 50 Hz?,e] % [4] [1.19] [20.32]
093 x .158 DEEP @.047 TYP (4) —~—— 800 —=
[255] [5.08] 5.08
MOUNTING L = 100 v
HOLE TYP (2) T —— SOLDER CUP * m\V‘— [2.18+0.05 |
gﬁ _[ GND TERMINAL e PN % .086+.002
. 17.78 \ PILOT HOLE TYP (2)
s OPTION "M3 o AN 125 [3.17] HOLE
x 0.5 THREADED HOLES [1 267001 {} IQ FOR #4 -40 x 3/16"
| = i f o2, s ?ELF TAPPING SCREW
OPTION "440" L U|T L] %F!w N T T
#4-40 THREADED HOLES f27] | \ E4FRA "5.08] [10.16]
—— —~—— 200 - '
=0 2.36] x [4] [1.19] [20.32]
.093 x .158 DEEP @ 047 TYP (4) - 800 — =

Switchcraft, Inc.
E Series




